RF Exposure eval uation

According to 447498 D04 Interim General RF Exposure Qui dance v0l1
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and {is in GHz, 4 = the scpamtion distance (cm). and ERP o, & per Formaula (B.1)

The example values sbown in Tabk B.2 & for Lllustration caly.
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eirp = pt x gt = (EXd)?% 30

wher e:

pt = transmitter output power in watts,

gt = nuneric gain of the transmtting antenna (unitless),
E = electric field strength in V/m ---  10((dBuV/m/20)/ 106
d = neasurenent distance in neters (n)---3m

Sopt = (EXd)?2/30 x gt

Ant gain =-0.61dBi, so Ant nuneric gain= 0.869
Field strength =93. 06dBuV/ m @ma@480MHz (Wrst Case)

So Pt={[10(%3.06/20)/ 106 x3] 2/ (30x0. 869)}x1000 mA =0. 689MN
<2.76 mN

Then SAR eval uation is not required



